AP Calculus Left, Right, Midpoint and Trapezoid Approx.  Critical Homework (Answers)
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AP Calculus Left, Right, Midpoint and Trapezoid Approx. Critical Homework

Find the left and right sums used to approximate the area of the region between
the graph of the function and the x-axis over the given interval, using the given
number of rectangles.

la) g(x) = 2x> — x — 1, [2, 5], 6 rectangles

Left endpoints: Area ~ 2[5 + 9 + 14 + 20 + 27 + 35] = 55
Right endpoints: Area ~ [0 + 14 + 20 + 27 + 35 + 4] = 12 = 715

1b) f(x) = 2x + 5,[0, 2], 4 rectangles lc) f(x) = cosx, [O, g] 4 rectangles
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Find the midpoint sum used to approximate the area of the region between the
graph of the function and the x-axis over the given interval, using 4 rectangles.
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Find the trapezoid sum used to approximate the area of the region between the
graph of the function and the x-axis over the given interval, using the given
number of trapezoids.

3a) f(x)=x%, [0,2}, 4 trapezoids 3b) f(x)=+x, [4,9], 8 trapezoids
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4) AP MULTIPLE CHOICE EXAMPLES
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Calculate the approximate area of the shaded region in the figure by the trapezoidal rule, using
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The function f is continuous on the closed interval [1,10] and has values as shown in the table

above. Using a right Riemann sum with four subintervals [1.3]. [3,5], [5.8]. [8,10].what is the
area under f{x) on the interval [1, 10]
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